
Algebra 1:  4.0 Intro    Name _______________________________________  Period _____ 
Slope and Linear Equations Practice 

 

Slope Formulas 

Using a Graph Using Two Points 

𝑚 =  
𝑟𝑖𝑠𝑒

𝑟𝑢𝑛
 

 

𝑚 =  
𝑦2 − 𝑦1

𝑥2 − 𝑥1
 

 

 
Find the slope of the line using the points on the graph. 
 

 
 
Find the slope of the line that passes through the given points. 
 

5) (–14, –8)  and  (0, –8)       6)   (–4, 14)  and  (–1, –7) 
 
 
 
 
 
 

7) (–5, 14)  and  (–13, –6)      8)   (15, –20)  and  (15, –13) 
 
 



Types of Linear Equations 

Slope-Intercept Form Standard Form Point-Slope Form 

 

𝑦 = 𝑚𝑥 + 𝑏 
 

where 𝑚 is the slope and 𝑏 is the  
𝑦-intercept 

 

𝐴𝑥 + 𝐵𝑦 = 𝐶 
 

where 𝐴, 𝐵, 𝑎𝑛𝑑 𝐶 are integers 
 

 

𝑦 − 𝑦1 = 𝑚(𝑥 − 𝑥1) 
 

where 𝑚 is the slope and 
(𝑥1, 𝑦1) is a point on the line  

 

 
 
Convert each equation from standard to slope-intercept form.  Identify the slope and y-intercept.  Then, 
graph it.  
 

9) x + 6y = 12  

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 
 

10) 4x – 3y = 0  

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 
 

11) 4x – 5y =–10 

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 

12) x-intercept = –1 and y-intercept = –4  

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 
 

 



Convert each equation from point-slope to slope-intercept form.  Identify the slope and y-intercept.  Then, 
graph it.  
 

13) 𝒚 + 𝟏 = −
𝟑

𝟒
(𝒙 − 𝟒)  

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 
 

14) 𝒚 + 𝟑 =
𝟒

𝟓
(𝒙 + 𝟓)  

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 
 

15) 𝒚 + 𝟏 = −(𝒙 − 𝟑) 

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 

16)  𝒚 − 𝟑 = −
𝟕

𝟐
(𝒙 + 𝟐) 

Slope-Intercept:  ________________________ 

m = __________, b = __________ 

 
 

 
 
 
 
 
 
 
 
 
 



Graph the horizontal and vertical lines.  
 

17) 𝒚 = 𝟗  

Circle one:       HOY               VUX 

m = __________ 

 
 

18) 𝒙 = −𝟕   

Circle one:       HOY               VUX 

m = __________  

 
 

19) −𝟑𝒙 = 𝟐𝟒 

Circle one:       HOY               VUX 

m = __________  

 

20)  −𝟐𝒚 = −𝟔 

Circle one:       HOY               VUX 

m = __________  

 
 

 
 


